
Commutative Property and
Distributive Property Worksheet

Instructions: Identify the property used (Commutative or
Distributive), then solve.

7 × 4 = 4 × 7 

→ Property: __________

3(x + 2) = 3x + 6 

→ Property: __________

6 + 9 = 9 + 6 

→ Property: __________

2(5 + y) = 10 + 2y 

→ Property: __________

8 × n = n × 8 

→ Property: __________

a + b = b + a 

→ Property: __________

5(2x - 1) = 10x - 5 

→ Property: __________

12 × 3 = 3 × 12 

→ Property: __________

4(3 + m) = 12 + 4m 

→ Property: __________

x + 6 = 6 + x

→ Property: __________


